i I =]
ok 2L /A = 90° &1 42437k ABC o] A] @
& Ao ol Wl 79 Folth AT Hel
yolg 1=2W?

i 2, shF |
® 10v/3cm? @ 12v/3cm? ® 14v/3cm?
@ 16+/3cm? @18\/§cm2
AC: AB: BC=1: \/3: 2 0l8
AB = 6v/3(cm), BC = 12(cm)

(M4 329 o)) = (AABCS] Hol) = £ x
6v/3 x 6 = 18y/3(cm?)
E]- -j-%]:‘l]' %:J—TO: %%A} A dem. D
thE]E ABCD ] Holg  4om
5 < —=C
et o

[HH 2, st ]
> =
> ®eb: 77 em
—%—Eﬂ/\]’\:}ﬂ]%g %O]% A .4 cm- D

4({:m/ n
/42 _ 32 B'Z3‘_5'f4“ =330
-3 “=--10cm-~~
=416—-9
=7
(4 )1 (4 + 10) x
\/7><§ = 7V7 (cm?)

T 29 2 o =

Fatelet,

H4 2, 55 ]

C} -
H -

>
> ®E: VI3

B \
A A o BC oA 4 W
z2 =9+ 4,

z>00°B2 - x=+13

A
2

rg

BS<- _3>‘f’c
MO do|7} 74zt vhg 3t & wf, A ZH2Ead o] of
g A2 [HH 3, SHd ]
O 3,5,4 @ 4,2,2V/3
® V3,2v2,V/5 @ V15,6,1/21
®)4,5,2v/2

Al ¥e] Zdolzt a,b, e 91 AZHg A 71 21 He
Aol & ¢ T 31, a® +b? = o] AHsHAE A7
Aol a? +b? # 2 o|A A4 o] ofY
ok @A 71 71 M8 5 9l 42 4 (21/2) # 52

olme Z7Hz1ge] okt




g

gl .
o < i)
, c s ¢ ¢
i Q o o3 N !
i < R
= _AO\../W == - -
[ WoE S = m o
T M
ﬂ%% Ll
ORI
S~ M/_,_ Q) S)
%xmﬂ =
o & T
« T8 o~ Tk T - ﬂ -
g o A - > < s f
~ I — 5 = 0=
. s X~ ~ N
. . Tm.ﬂ 2m 5 — ﬁ
o e F T E w_u 2oz
RO X ™ T 5 08 8
ol B Y olp
A AN ) o @ © O
~
-
~
WA_W
fife)
el
ol
=,
QT o 7 K 2 £ o8 )
A ol) ol A & & A
N g = g I NN =
B,.r_n_,.in_,u_l_.A ofg . <) m o2 N
= J N ur Tﬂn < I I | S _D "
o__wﬂo%BEzmﬂ a8 2 o @ @® @ A__nD_m
‘aD‘IFﬁDO._O_D ﬂE =) m O = <) 9 ..r. ..r. |.r. ..r. ..r. ..r. [EIRNTY
M mﬁ K T o= B Uk o N X N Im 70 gl Ul Wl 40§l il _D @) _F
g L2FEE 50| © 0 O ®@ © ® R 606
o "0 X
o) Mo No o o A A AN AN A




8.

B

vjeraes ool ot

z? = 32 + (2v/2)?
x>00]ER z =417

2 = 42 4 (2¢/3)2
y>00°1B8 y=124=2/6

e ade A4
ABCD € 8 B7F&E D
o 9=5 Fe Holct. of
u, AB o] Zol T34
2,

| 2
> HMeh: 8

B

ADFC °flA]
6% + 22 = (16 — 6)?
r? = 64

z = WO Aolo]Bg 1 >0

c.x =8 o|t},




